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��#��
���� �����
�� �
 ��-
���� �����������
$���� ���$������ �
 �� 
�������
��� �
 ��������) ����������� �
$�����-
��* $���*���� �
 ��$���*���� �����. &��
���$��� �
$������� �������������� ��� ����� ������ 
#
������. 
MODELING OF INFLUENCE OF SHAFTING QUALIFIER PARAMETERS 

ON PRODUCTIVITY  
The modeling of influence of the shafting vibrating qualifier parameters executed on the basis 

of experimental researches and their approximation with help recourse dependences of linear and 
nonlinear types. The dependence of productivity on three various factors is established. 

 
\����������
$��B� ���$����
��( �
��������� �����������$������ �
$��-

���� ����
�������� �$
���#��
���
 �� ��� ������B�, ������������B� �
�
-
������, �$
������ � �$������� �B��	�* �����* �
��B ���
�
$� ��L��������� 
�$�(��� �
����� �� �
�������B� #
������ [%, 2]. ��
#�	����* 
�
$�� U����-
������
$��B� ����$��
��� ���
�
$ �
�$�	��) ������� ��$���*����� 
���
���$����* �
���������. & ����B?$���B� ��$���(� U���$�
�
��( 
�$
���#��
���
 �����������( ��� �$�(���� �����$���� #
������ 
������������, ��U���� � �������� ���$����
��* ���
�
�$��
$�( �
�
���� 
��������( �
��������� �����������$������ �� ��$��� �� ������ �� 
�
�������B� #
������, �� � �$�(��� ������ �
�
������, 	�� �����$�$� 
��$�	��� ��$�� ��$��) �
�� �
��B� �$( 
�
$���	����* 
��������
��� 
��$�	���B� ��
#����. I
�, �
 ���. % 
, �, � ���
�
�B ����$��
�B 
U����������
$��B� ���$����
��* �����������$������ �$
���#��
���
 �� 
	
����B ��
L���( �
$��� } (400-%320 ��/���), �$
������ �B��	�* ����B ] (2-
20%) � ��$
 �
�$��
 ������
 ~ (%-%5 ��
�). 8�� U��� �B$
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 (�) �$
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��� ® = %,74 �/��3 
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��$�	��
 ����( ����B�, ���
�
)L�� �$�(��� ������ �� ��
�
��B� #
������ 
�
� ���������, ��� �$�(��� ���� ������ �
� ���������)L��. =��
$��B� �
�
-
����B �$
���#��
���
 �
#�������
�B �
 �����(���� ������ � �
��B, �������-
�������: �
��� ����� �
$�
�� – 3 ��, �$������� �B��	�* �
��B � = %,74 �/��3 
(��
����B* �����), ��
���� �
$��� D =80 ��, U������������� �
$��� � =3,5 ��. 

!$( ������#��
��� ����(�
 �����#
������
( ����$�, ��$)	
)L
( ����� 
$���*���� � ��
��
��	������ 	$���� ������������ #
������ � ����: 

 
Q = a+b7x7 + b2x7

2 + c7x2 + c2x2
2 + dx7x2 

 
�
 �����
��� �
�
����� �����( ��
	������ 0,05 � �����	������ ��
	���( 

��
������� "��)����
 �B$� ������$��B ��U##������B �
�������� ��� �
�-
��* ����
�$()L�* �����	$��
 � �
 U��� �����
���, ��� ��
������ � �����	�-
���� ��
	����� ���� ��U##�������� �
��������, �B$� ���$)	��B �
$���
-
	
L�� #
�����B� �����
��. �����
������ ����$� ������($
�� � ����L�) ���-
����( 1�?��
. =����B�
(�� �
 ��$�	���B� �� U������������ �
�� �
��B�, 
U����������
$��
( �
��������� ����� ���: 

 

αθθωθαθω ⋅+⋅−+−−+= 056,00005%,005%,037,%4%,20092,004,40 2Q  
 
A��$� �������* ������B �$( �������( "��)����
 � = 80. !$( ����(���� 

�����( ��
	������ 0,05 t
� = %,99. & ����$� ��$)	��B ��$��� �� #
����B, �$( 
�����B� ��U##������ �
�������� �
�
������ t ¨ %,99. &B	��$���B� ��U##�-
�����B �
�������� �
�
������ �$���)L��: 

 
t} = 4,04;  t] = 8,23;  t~ = 9,27;  t]

2 = 4,24;  t}] = 2,77;  t]~ = 4,64/ 
 
=�� ��
	���$��� ����B?
)� �����	����� ��
	����, �$����
��$���, ��� 

#
����B, ��$)	���B� � ����$�, (�$()��( ��
	���$��B�� � ��L�������� �$�(-
)� �
 �����������$������ ������
. @�U##������ ��������
���, ���
�
)L�* 
��$���� ����
��( #
�������� �����
�
, ��$��� �
�������( � ������
$� �� 0 
�� %, 
 �B	��$���B� ��� ��
	���� � �
?�� �$�	
� ����
�$(�� R2 = 0,882 � ���-
����* 1�?��
 F = 99,49, � �� ����( �
� ��� 	��$� �������* ������B � = 6; �2 = 
80 F
� = 2,2%. 	�� ��
	���$��� ���� �
�	������. &�� U�� �������$������� � �B-
����� ������ 
����
������ ��$�	����* �
���������. <� 
�
$�� ���
�B�
��, 	�� 
� ���$�	����� ~ � ] �����������$������ ����
���( (�
� �
� ��U##������B 
��
�����( �����
��$��B), 
 � ���$�	����� } – ����
��
��. =��
�� �
$�	�� 
��
��
��	���� �$
�
����� � �$
�
��B�, ������
L�� ������������ #
������, 
�����(�� �
�
���� �
���������, �.�. �� �
 ���� ������
����� ��
	���* #
���-
��� �
��
�$������� ��������* �����������$������ ������$(���( $���*�B�� 
	$��
��. I
�, �
������, �� #
����� �$
������ ] �
��������� ����� �
�
��$�-
	����* �
�
����, ���( ������� ������
���( �
 �����$
�� ��$
��� U���������-
�
: ]min = 24%. =��$������ �
��������� �����������$������ �$
���#��
���
 Q 
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�� 	
����B ��
L���( �
$��� �� $���*��* ���B ��Y(��(���( ��$��B� ��
���-
��*������ #
������ } � ]. 

&B��$����B� ���$����
��( �������$��� � �B��	�� �
����
$�� ������* 
�$������� � = %,74 �/��3 (��
����B* �����). 8�
���	����* ������� ������
�$(�� 

�
$���	�B� ���$����
��( �$( �
����
$�� ��$�?�* � ����?�* �$�������*. " 
�����
 ��$����* ���B ��� � = 2,25 �/��3 �B$� �B��$���B U����������
$��B� 
���$����
��(, 
�
$���	�B� ����B��L��. '���$��
�B �� ������
�$��B �
 ��� 2 

, �, � � �
 �� ������ ��$�	��
 ������#��
�����
( ����$� 

 

rQ αθαθωαθ ⋅−+++−−= 22,00296,0049,000000%95,077,052,%58,20 222  
 
A��$� �������* ������B �$( �������( "��)����
 � = 7%, ��� ������ ��
	�-

����� ~3 = 0,05, t
� = 2,0 � ��� �$���)L�� ��U##������
� �
�������� �
�
���-
��� ��$�	����* �
���������: 

 
t] = 5,%%,  t~ = 4,56,  t}` = 6,57,  t]` = %,96,  t~` = 3,32,  t]~ = %,96. 

 
8����$��� ��U##������B �
�������� $��� ��$�?� �����	������ ��
	���(, 

$��� ����
��	�� �$���� � ����, �� #
����B, ��$)	���B� � ����$�, (�$()��( 
��
	��B��. @�U##������ ��������
��� R2 = 0,908, 
 �������* 1�?��
 
F=%%7,52, � �� ����( �
� ��� 	��$� �������* ������B �7 = 6; �2 = 7%; F
� =2,23. 
\�� �������$������� � �B����� ������ 
����
������ ������#��
������* ��-
��$�. 

8�$�	���
( ����$� ���
�
�� �
��* �� �
�
���� �
��������� ���������-
��$������ �
$������ �$
���#��
���
 �� �
�������, 	�� � ����B��L
(. =�$�	�� 
������� � ���, 	�� �
��������� Q �� } ����� �� $���*�
(, 
 ��
��
��	�
(, 	�� 
��Y(��(���( �$�(���� �$������� �
����
$
, �����
( � U��� ����$(� (�$(���( 
#�������
��B� �
�
������. 

'���$��
�B U����������
$��B� ���$����
��* � �B��	�* �
���* ��$�� ���-
��* �$�������, 	�� ����B��L�� � = %,43 (�������(�), ������
�$��B �
 ��� 3 
, 
�, �, ��� �
��� ���	
$
�� �
��������� �����������$������ Q �� 	
����B }. ��-
$
 �
�$��
 ~ � �$
������ ] ��� ��
	���(� ���
$��B� �
�
������, �
#������-
�
��B� �
 ������� ������. C�����#��
�����
( ����$� ��$�	��
 ��� 	��$� 
�������* ������B �$( �������( "��)����
 � = 92 � t
� = %,99 � �$���)L�� ����: 

 

αθαωθωαωθ ⋅+⋅−⋅+−+−= 0325,00005%,000055,003%,00000%,0437,00,%8 22Q
 

& ����$� ��$)	��B #
����B. !$( �����B� ��U##������ �
�������� ��$�-
?� �����	������: 

 
t] = 4,25,  t }~ = 5,28,  t}

2 = %3,92,  t }] = 5,66,  t~
2 = 5,%5,  t]~ = 5,37. 
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'��. 2 – '���$��
�B U����������
$��B� ���$����
��* �
��������� �����������$������ �� 
	
����B ��
L���( �
$��� (
), �$
������ �
��B (�) � ��$
 �
�$��
 (�) �$
���#��
���
  

��� ® = 2,25 �/��3. 
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'��. 3 – '���$��
�B U����������
$��B� ���$����
��* �
������ �� �����������$������ �� 
	
����B ��
L���( �
$��� (
), �$
������ �
��B (�) � ��$
 �
�$��
 (�) �$
���#��
���
  

��� ® = %,45 �/��3. 
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\�� ��
	���( ��U##�������� ����B?
)� �����	�����, �$����
��$���, 

��$)	���B� � ����$� #
����B (�$()��( ��
	��B�� � ��L�������� �$�()� �
 
�����������$������ ������
. @�U##������ ��������
��� R2 = 0,9%4. �������* 
1�?��
 F = %63,69, 	�� ��
	���$��� ��$�?� �����	������ ��
	���( F
� = 2,2, 
	�� �������$������� � �B����� ������ 
����
������ ��$�	����* �
���������. 
& U��* ����$� ��L�������B�� ��
�
$��� ��
��
��	�B� 	$��B, 
 �
��� ��� 
�
��B� �����������( #
������ ����� ����*. 

I
��� ���
���, ���
���$��B 
�����������)L�� 
�
$���	����� �
������-
��� �����������$������ �
$������ ����
�������� �$
���#��
���
 �� 	
����B 
��
L���( �
$���, �$
������ �����
�
�B�
���* �B��	�* �����* �
��B � ��$
 
�
�$��
 �
��	��� ���
�
 �$
���#��
���
. ���
���$��� ��L��������� �$�(��� 
�$������� �B��	��� �
����
$
 �
 �������, ��U���� �$( ��$�	���������� 
�
-
$��
 �
���B �$
���#��
���
 ������
�� ������������� ������#��
��� �
����-
����� ��� �����������$������ �� �$������� �
��B � ��������	����� �
�
���-
��� U$������� �
��	��� ���
�
. 
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TO QUESTION OF STRUCTURE AND PHASE′′′′S PROCESSES 
INRESTIGATION IN SELF-ORGANIZING NATURAL AND 

TECHNOGENETIC SYSTEMS  
Certain aspects of the theoretical investigation of structure and phase′s processes in self-

organizing natural and technogenetic systems are considering. 
 
8�� ���������� ���$����
��* �����(��( ���$���	����* �$� ���#���	����* 

����B ������
�� ������������� ����(��( ��* �$� ���* ����$�. !$( ��
$��
-
��� ����$���-��$����� ������
 � ���$�����B� ������
� � ���
���) ��Y����� 
���$����
��( ��$)	��B ��$��� ��, �����B� ������
�$()� ������� ��� �����-
����� ���$����
�����	�B� � ����B� �
��� �
� ��Y����� ���#���	������ ����-
������
. 8�� ��##������
��� ����� �B��$��� �����$��� �
�?�
��B� ����-


